> restart;
{} # Compute Truncation Error for a Method

> m:=4;
m:= 4

> T:=y(t+h) -y () -h*f(t+h/2,(1/2)*(y(t+h)+y(t)));
T:=y(t+ h)- () - h /‘( t+ % h,%y(t+ h) + %y(t)]

_$ S:=series(T,h,m);
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> eq[1]:=D(t->y(t)) (1)=F(t,y(t));
eq; := D(y)(0) = f(t, Y(1)

_$ for j from 1 to m-2
do

eq[j+1] :=simplify(subs(seq(eq[i],i=1..j),DCunapply(eq[jl,t)) ()));
od;

edy = D20 = Dy (A& Y1) + Dol WD) AL, YD)

eqy := DP0)(0 = Dy (A, M) + 2 Dy H(A( W0) fit, W) + Dy, oL Y(O) fit, W0)°

+ Dyo(N(, YD) Dy(N(G WD) + DoF(E, Y0)° AL, YD)

_> simplify(subs(seq(eq[i],i=1..m-1),S));
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